
Part # 646-411	 -1-	 Modified 08/24

Corbeau Seat Adapter Brackets
PART# 646-411

Installation Instructions
For: MGB

440 Rutherford St. Goleta, CA 93117 
1-800-667-7872 • FAX 805-692-2525 • www.MossMotors.com

Tools Required:
•	Phillips Head Screwdriver

•	 7/16 Wrench

•	Pencil Magnet or Pocket Screwdriver with Magnet

Instructions
1.	 Remove your old seat from the car. Remove the 

wooden packing strip and small aluminum spacers 
if equipped. They will not be used for installation of 
these adapter brackets. Install the Corbeau seat rails 
to the seat (if not already done).

2.	 Place your Corbeau seat upside-down and prepare to 
install the seat adapter brackets onto the seat rails. 
The tapered, flat head screws will be installed in the 
outer holes in each seat rail. The brackets will be 
installed so that the tabs are facing out.

Figure 2a

Figure 2b



Part # 646-411	 -2-	 Modified 08/24

Installation Instructions

3.	 Place the tapered flat-head screw into the counter-
sunk hole on the adapter bracket. Place one of the 
included ¾” spacers on each bolt in between the 
adapter bracket and the Corbeau seat rail. Hold the 
nut in place under the seat rail with a magnet as you 
start the threads into the nut. Tighten the Phillips 
head screws to install the adapter bracket to your 
Corbeau Seat Rail. 

Figure 3a

Figure 3b

4.	 Install the seat into the vehicle using the provided 
bolts, lock washers, and flat washers. You may need 
to move your seat rails individually as necessary to 
line up with the mounting holes on your car. Install all 
the bolts finger tight, and then fine-tune the position 
of your seat to your liking before the final tightening. 
Make sure your seat is clear of your convertible top 
frame, and also free to move fore and aft as you 
see fit. 

Figure 4

5.	 Enjoy the Corbeau seat in your MGB!



Part # 646-411	 -3-	 Modified 08/24

Moss Europe Ltd.
Unit 16 Hampton Business Park Bolney Way

Feltham TW13 6DB, United Kingdom
In the UK: 020-8867-2020 FAX: 020-8867-2030

Moss Motors, Ltd.
440 Rutherford Street, Goleta, California 93117
In the US & Canada Toll Free (800) 667-7872
LOCAL (805) 681-3400 FAX (805) 692-2510

For questions or comments please contact:
Designed and Distributed by Moss Motors, Ltd.

Installation Instructions

Ref Part # QTY Description

1a 773-099 2 ADAPTER BRACKET, CORBEAU SEAT, MGB

1b 773-097 4 SPACER, ALUMINUM, FOR 5/16 BOLT, 3/4 LONG, 3/4 OD

1c 773-098 4 SCREW, FLAT HEAD, CSK, 5/16 X 1.5 LONG, UNC

1d 771-530 4 NUT, NYLOC, 5/16 UNC

1e 322-247 4 BOLT, HEX, 1/4 -28 X 1 IN.

1f 324-590 4 WASHER, FLAT, 1/4 ID, ZINC

1g 324-020 4 WASHER, LOCK, 1/4 IN

1e

1b

Bill of Materials

1a

1c
1d

1f

1g


